2017 2&t7|

Y& D+ (ZFEFY Y
_hpark1@seoultech.ackr
htto/www.parkjonghyuk.net



mailto:jhpark1@seoultech.ac.kr
http://www.parkjonghyuk.net/

e\

> 108 ALl oHA|
1 ARl He2 ofEA Hd=7F
2 =CNISHAIe| "It
3 HIX[OER

4 HSHLBP

5

6

7

=~
Hl2EHRI YIRS

1 R e

SEOUL NAT L UKIVERSIT CIEK TECHMOLD




4

M_u
jol

A =5
& 1%

L o |

% | P

-
o
| S

gt

H oiE = AN HFEL| 1

> T

ot

<
joll
5

ojru

ol

[

T 7HX12 EXMH XMe|5LE7t

| —
| .

Skt

ot

<
joll
0

ojru
jol

Kio

IR 20

-
o}
| S—

I SEfO]

or

0] ojof 7|E St

=
=

TE[Z 0| =2 M|

ot

<

e

joll
T3]

ojru
olg

<
1 |

<

r



4

M_u
jol

g A
EI'I'

3517 flolfl "X|0t3 7t AL

ofLtel cijolE x|

AL
T

E LIEIE

i1

> ElMo| g

ol
AR

HIolE 2 FZtof
o2 THX| ZE Ho|Eof CisiAM T S

<
T
oll
of

Lijru
Kio

12 SsiM O|R0{X|H, Of

M ogtE My

.I

AHMe

0
oF
=

>

4 A4 i O}

=k

Eorx| 2k A

al



4

M_u
jol

P

.
o

£ H<l

o| ©lo]E

Ok
o

e
1 b

= o
= =

Kio

oll

<

ot

<
joll
°

ofru
olo

ot

X1 0l CHoH

A 20| X|of x| =

g
o

» 73 H2Eg o|Z0] HFE X

ot

<
joll
g0

> CAPTCHAZ} €OfLt §8¢<HX|2t 0]Z10]

LtEFLH D



% 20{2| HHEl(Moore's law)
- AFH SIERO S NME|sH2 =2 187 & 0L & Bi7t ElCh= BE
« K|+ Z7Hexponential growth)
« At FX0f Ci5te F0lof A2 AL EH = U=71

0 16

1,50 2ul

3 44K J‘-'Elg

4.5\ 8 EH:“J

- . Ko

7.59 32t

IE] 644

:
10. 54 1288 AIZHYZOA 2EZOCZ I5H)
] 256HH =
38 10.1 S0 &9 X=X B7t

13,54 512

5 o Mg arelagen

SEOUL NATROHAL UNIVERSITY &TECHNOLD




B o1 mReoin g5 ofgA ss=sh

Q’Q A‘Ih
¢ ‘oo
e (M XNEBFEE FH, AlZ(time)

o (2 7|Y9EX 27|& 58 S (space)(M| 22| 72| &, C|23 &)

o NS
« =3 =T (clock rate)
. 1GHZ= AT AOf Ho| &3} A{0|2
= =

S M Z2MAM7EH WS




_ 101 ZEE{OM ML of=H SHEI=7h

. HE2 23 $ES 71N S R0 ZRAMIIE 22 23 $ES
=

=
ZTEo| TEMAMELCHE HWE & c= QEX| A2 &0

7tEl Tt

Ag. A Ol7e

1T.ME OHE 7o Z2HNMS2 4 B30 O 29 AO[F2] 7t
=X 7| &

o MIPS(millions of instructions per second)
g ek el BHEO

« MFLOPS(millions of floating point operations per second)
25 SR JHOf A4 I

7 R e

SEOU L UKIVERSIT CIEK TECHMOLD




_ 101 ZEE{OM ML of=H SHEI=7h

« T Oj(core) : BT ZEMA Q| 7

Ex) 72 ZO0{(duo-core: 25 T ), HE T O{(quad-core: 45 T O)
- O M2 Z2MAMES 71 BRHELD G2 Z2MHAME0| H
- ARHO 2 == MA, AFH HEZ|QF C|AF EZ0[E & 2

Xl

d

HA HEEH S20| FEE 7

Ex) O WE T2 MA= 5 =2 4220 {20




< F0{2| HZ[o| oA
« HtEH|(semiconductors) E&£0| &
o [ AOpX[L1 Eepy
o Xt ZHELCH M HM MXE0| S == U=

=
gKXet BE2S TBS0i= A0l B4 A% &
>

l(miniaturization)7t 7}s38l %!

0%t
kot

A
_rarul

OE
ot
40 4T gy

Mo .

(=
[S1 .S

oV
3H
m

=1
e
O

w o=
09 0z

Ral
n

9 i M2l ATty




 HRto| QXS HENOE HY

. Tf wwist ojo|E HERTH 2 4

ol
AN
« M Z0|E(Seth Lloyd)e| ==X #HFH

_ 20|=o| 230! HEE sixfo] M= HEE

T2 MM(ELH=E) 1032 100

M= 27| 1016 HIE 1010 HIE

a8 10.2 S d|ueh 20|29 =121 AREQ| oA

10 o AearE|aetn

SEOUL NATROHAL UNIVERSITY OF SCIENCE & TECHNOLDGY




10.3 HiX|Of3
HIX| 0t 3 (benchmark)
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holdTicket <-- first ticket from the stack

rernoyve hold Ticket from stack

while stack not empty AMD holdTicket not winner  do
holdTicket <-- nesxt ticket
rernave hald Ticket fram stack

endwhile

if holdTicket is winner then
The winning ticket is holdTicket

else

The stack contains no winning ticket
endif
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while the stack has more than one ticket do
Examine the middle ticket:
if  rmiddle ticket number less than winning number  than
Rermove from stack evergthing through rmiddle ticket,
ekse
Rermove from stack evenghing following middle ticket,
endif
endwhile
it a ticket remain in the stack and is the winner then
The winning ticket is the one left,
eke

The stack contains no winning ticket,
endif
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< O|Zl HM(binary search) €¥12|5
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18

holdTicket <-- first ticket from the stack
rermove nextTicket from stack
while the stack is not empty  do

next Ticket <-- next ticket from the stack

remove nextTicket from stack
i nextTicket > hold Ticket then

holdTicket <-- nextTicket
endif
endwhile
A holdTicket has greatest number from the stack

O 108 A COIHiA 2HE 2 =2 F= 2aelE

Begin with a stack that is sorted & empty,
while the stack contains one or more tickets  do
Find largest numbered ticket in unsorted stack,

Mowve found ticket to top of sorted stack,
endwhile
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< LA 9| /45 (polynomial performance)
« OIO|H &=2| 7l=(N)E M7| ?let SA0| Tt
- Z2OUS2 LYY d5 7t
o EfO] BF : m3ZR(xA HAILQ 7l (m))
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10.5 H|A8Xol A 2|F

< X|= ¥1E|F(exponential algorithm)
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<+ HE EH|(halting problem)
« B8 22X (infinite loop) : F-AI
Ex)

while true do
// do something

endwhile
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I HaltChecker says InterstingProgram will halt then
while tme do
ff do something
endwrhile
d=e

A halt
endif

ol

o "AX|QEE 2Qlot= Y1 2|F(HaltChecker)

« HaltChecker?} InterestingProgram< dX|gt Z40|2t A SHH,
InterestingProgram SX|SX| A E(SHIZ SA5HX| B3)

e HaltChecker”t InterestingProgram= S X|SHA| &Z ZA0|2tn

Z2°30tH, X|(HIZ SHH| E5)
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shilgh o= QUL},
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£ 3 HAE(Turing test)
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< ZHXHCAPTCHA: Completely Automated Public Turing test to tell
Computers and Human Apart)

« QIZHO| Of3fiotE A2 H| N X2 Al Z2 10|
Olafi5t7[0l= g A BHE

=
—
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. QIZEIF HEES THT| 9B KHO|HE 0| ]

32110.19 “inherit’2ls HHo{oll cHet ZHXHCAPTCHA)
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